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Anthocyanin

pH Relationships-

OH

R1,R2=H, OH, OCH,
sugar= glucose, arabinose,
galactose

I

pH=1 H= pH=3 H =4 pH=5 |:|H €- pH=7 pH=8B pH=% pH=10 PH=1

Acid Neutral Alkali

strong weak l, weak strong
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pH & pOH Scales

Neutrad

Notice: H* and OH" ions present are present in all solutions,
including both acidic and basic

O

increasing acidity increasing basicity
-« neutral >

pH= 0 4 7 10 14
PyohE=10"  10% 107 10 107

[OH ]=101* 101 107 10* 109
4 Ex 4 o)

/O
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Pure water, neutral solution
2 H,O — H;0*"1" + OH-!

0.0000001 M 0.0000001 M
/O"-»-P = 10
calculations: ——

[& pH = -log[H;0*'] = —{D%[_I(D‘j= \0“55 'i""?

% pOH = -log[OH-]

A [H30+1].[OH'] =1x 104
_ ¥ pH + pOH = 14
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0.10

[H*)

0.05

What does this all mean?

0.0010 M

T3 U L LT LTS

0.10M

0.010 M

April 13, 2015
pH=1=0.1M
pH=2=0.01 M

pH=3 =0.001M

Each pH unit
changes by 10 fold

(logarithmic)
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Acidity and pH

pH [H30+] M
Strongly acidic 1 10" 0.1
2 107 0.01
3 10~ 0.001
4 10 0.0001
5 10° 0.00001
Weakly Acidic 6 10°° 0.000001
Neutral 7 10”7 0.0000001
Weakly Basic 8 10°® 0.00000001
9 107° 0.000000001
10 107° 0.0000000001
| 10" 0.00000000001
12 10 0.000000000001
13 107" 0.0000000000001
Strongly basic 14 10™ 0.00000000000001

Why do we use pH System?

In testing the acidity of your swimming pool,
what is easier to understand?

« [H50*]0of 0.0000001Mol/L
e OR....... pH of 7
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oH + pOH = 14 pH = -log[H;0*"]
pPOH = -log[OH-"]

If the pH is 3, then the pOH is 11 F]

then the [OH] is 10" -
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Determining pH, pOH, [OH], [H;0"]

Remember [H*] = [H;0°]

Use this chart to determine unknowns
given one value (25°C)
K, =101-101

Ku/[ H30°]

K,/[OH]

[H,0]

- [OH"]

10°H | |-log [H;0%] -log[OH-] | |10-POH

14.0 - pH

14.0 - pOH pOH

Apr 13-7:54 AM
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pH = -log[H30*]
POH = -log[OH-"]

e pPOH=7 pH =
« pOH =10 pH =
e [OH]=1.0x10"M pH=

7
4
14
4

e [H+] =1.0E-4M pH =

e pH=7 [OH] = 1.0E-7M -

« POH=7 [OH] = 1.0E-7M -
. [H]=1.0E-4M  [OH] = 1.0E-10M -

. [H]=1.0E-10M [OH]=1.0E4M [
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